On Point 2, 2nd Ed. 	Unit 10		Name: __________________

I. Vocabulary
Choose the word or phrase that best completes the sentence. 
1. Some people use social media as their main____________ of news and information.
a. decade
b. thinker
c. source
d. income

2. The company is ____________ to a new computer system, so everyone will have to be trained on it.
a. aiding
b. shifting
c. stagnating
d. thriving

3. Desire for better job opportunities is a significant reason for international ____________.
a. migration
b. demographics
c. commentators
d. starvation

4. Rita’s father became famous as a popular TV sports ____________.
a. thinker
b. source
c. workforce
d. commentator

5. At my school, the ____________ of students to teachers is about twenty to one.
a. income
b. ratio
c. decade
d. expectancy





II. Word Study

Choose the SYNONYM (=) or ANTONYM (<-->) for each word. 

6. Which of the following is a synonym for stable?
a. legal
b. secure
c. worthy
d. classic

7. Which of the following is a synonym for institute?
a. expose
b. ensure
c. implement
d. motivate

8. Which of the following is an antonym for aid?
a. ban
b. harm
c. confront
d. proceed

9. Which of the following is an antonym for considerably?
a. hardly
b. wisely
c. rarely
d. smoothly

10. Which of the following is an antonym for dynamic?
a. juvenile
b. balanced
c. precise
d. inactive










III. Word Study

Fill in the blanks with the correct word. 

	notably
	retiree
	underrepresented
	industrialization
	thrive



11. Inventions like the steam engine and other technologies led to rapid _______________________ in the 18th and 19th centuries.

12. Every _______________________ can expect to get some financial help from the government.

13. Goldfish are social animals; they need to be around other goldfish in order to  _______________________.

14. Victor Hugo wrote several classic novels, ______________________ Les Misérables and The Hunchback of Notre Dame.

15. Men are _______________________ among elementary school teachers, only making up about twenty percent.



IV. Critical-Thinking Skills

Read each argument. Then check () whether it is a valid argument or a fallacy.

16. 
	    PREMISE 1:  Loneliness increases the risk of heart disease.
    PREMISE 2:  Victor has heart disease.
CONCLUSION:  Therefore, Victor is lonely.

	
___Valid argument                 ___ Fallacy



17. 
	     PREMISE 1:  All developed countries will have older populations in fifty years.
     PREMISE 2:  Italy is a developed country.
CONCLUSION:  Therefore, Italy will have an older population in fifty years.

	
___Valid argument                 ___ Fallacy



18. 
	     PREMISE 1:  Women live longer than men on average.
     PREMISE 2:  Dana is a woman and Liam is a man.
CONCLUSION:  Therefore, Dana will live longer than Liam.

	
___Valid argument                  ___ Fallacy



V. Cloze Test

People in most countries are living longer, healthier lives, and that is a wonderful thing. At the same time, it means that populations are getting older on average. This change in the world’s _____(19)_____ presents some serious challenges. When people grow too old to work, they usually depend on government programs for their _____(20)_____. But as nations age and birth rates fall, the active _____(21)_____ becomes smaller—and eventually, so does the population overall. For example, in the US, the old-age dependency ratio has doubled in the last 70 years. Many countries are making policies in an attempt to address this trend because they fear that it will cause their economies to _____(22)_____. However, not everyone agrees that fewer people in the world is a problem. Some argue that a(n) _____(23)_____ global population is a positive shift because it could ease the effects of climate change.


	19.
	a. migration
b. demographics
c. mortality level
d. industrialization

	20.
	a. decade
b. source
c. income
d. fertilizer


	21.
	a. commentator
b. loneliness
c. thinker
d. workforce

	22.
	a. stagnate
b. revise
c. thrive
d. aid


	23.
	a. underrepresented
b. dynamic
c. declining
d. stable
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